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=2 2,392,925
Xl 181,200
< 4,786,098
Hgol Mauss X (sEalLa/aigsd - HE) 7,185,423 8,285,020 A 1,099,597
= 2,392,925
Xl 181,200
< 4,611,298
Hgasras X 3,271,701 3,366,551 A 94,850
2 369,000
< 2,902,701
DEE MM RFTEZHEXNAA(=1) 428,400 416,400 12,000
2 357,000
< 71,400
403 XIS E X201 & 428,400 416,400 12,000
2 357,000
< 71,400
01 X SHHX2E= 428,400 416,400 12,000
ONss0ld RRE2ZZEH XA 428,400
2 357,000
= 71,400
010l QlaotAE AR X & 1,966,700 1,963,808 2,892
202 O4dl 6,100 6,208 A 108
01 = LH 4 Hi 6,100 6,208 A 108
ONFQl CIUOtEALY =& 6,100
308 XXM SO A 1,960,600 1,957,600 3,000
01 IXNHHMBNEES 1,960,600 1,957,600 3,000
ONgE BM= &2 X& 1,839,600
OZWA= OIXHEA 90,000
Ol AM2X & S$HEX E5 N 31,000
OdEH s & HAHY 2435 859,201 846,343 12,858
202 044l 6,100 6,208 A 108
01 SLHOYI 6,100 6,208 A 108
O & Sliat € HAIWGE 2dsxd 6,100
403 MHXSHHSA=0l& 853,101 840,135 12,966
01 X EHHMA=2E X 853,101 840,135 12,966
owng U2 BE2FAL XA 100,000
O2QFN MHI EAHS(EF) WAl X 37,400
FA I AILXR 122,000
OO0+ 2= 2% A4 240,000
OENEZAE LM K& 35,000
ORFEZE Od REE &1 50,000
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HAH SZHd (=) (2D) 17,400 140,000 A 122,600
= 12,000
= 5,400
403 A X EHHS =0l A 17,400 140,000 A 122,600
= 12,000
< 5,400
01 X SHHA2E = 17,400 140,000 A 122,600
OSAIH Ze (i) 17,400
= 12,000
< 5,400
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01 AXISHHA2E = 6,000 6,000 0
ONEZOZE ZHRH £X 6,000
St == 4AHAIDILE 30,000 9,500 20,500
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405 XHAHF S HI 21,200 0 21,200
01 XAt 2 ZF S| 21,200 0 21,200
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HEFRHAEY XS 100,000 0 100,000
403 XX SHHS K20 & 100,000 0 100,000
01 XIS A=Z2E X 100,000 0 100,000
O Y HEH X& 100,000
= - A ME SE 22 AlAE X 45,000 0 45,000
403 XX EHHS K20 & 45,000 0 45,000
01 AXESHIE2E X 45,000 0 45,000
OF - 28HdE Sg&2AAE XA 45,000
HEALD GEAIAE 2= 112,223 0 112,223
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OA=0 dA=A A X 520,000
= 400,000
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HE3 HEdMal2s E82XR 294,499 279,500 14,999
308 XX EHH SOl A 294,499 279,500 14,999
01 AXHHILEES 294,499 279,500 14,999
O0Hd Moll24 282 K& 100,000
O R o2& 2B&= XA 140,499
oAZC HEF SXNAE 294 XA 54,000
oHoigel ALH & ALE 2l 37,000 7,000 30,000
202 Odl 1,000 1,000 0
01 = LH 4 Hi 1,000 1,000 0
oofitoigel X & AH =& 1,000
307 glz2tol & 6,000 6,000 0
02 It M AMHEE 6,000 6,000 0
Odfitoi el ASH X /ALE 2al 6,000
401 AIEHI L 20 30,000 0 30,000
01 A& HI 30,000 0 30,000
Ooitogel AFE & FHHY 30,000
el =X =i 179,200 312,406 A 133,206
201 £B-2dH| 10,000 0 10,000
03 AH2 I 10,000 0 10,000
ondoige 2tgs ¥ AAS 10,000
202 od4dl 6,200 6,406 A 206
01 = LH o4 1l 6,200 6,406 A 206
ONge SEXXH &0 At =& 6,200
301 e A= 15,000 5,000 10,000
02 Zet=zek=a 10,000 0 10,000
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O+ YER RIIE HASS &4l XN 10,000

09 HAIAHI BEAZ 5,000 5,000 0
oO&dge HH =4 5,000

307 2Iz2t0| & 60,000 47,000 13,000

01 s = 20,000 5,000 15,000
OXLAYEI XNEXS 20,000

02 AI2tAAMAIE E =X 40,000 42,000 A 2,000
O =401 OFM B HI K& 20,000
Oxx=MFAHAHO M= AgUE XN 20,000

308 XHXIGH SO0l & 4,000 0 4,000

01 AIKISHHENEXZ 4,000 0 4,000
OE dZ2= 012X 2282 XA 4,000

403 XX SRS K20 & 84,000 154,000 70,000

01 MXSHHXNEE X 84,000 154,000 A 70,000
Ox%xx 33 HESNS AF 70,000
oL &2 I 14,000

D |=82 & X2 2,034,100 2,242,285 A 208,185
= 1,537,600
N 141,200
= 355,300

SAEH E2(=21) 90,000 90,000 0
= 45,000
& 45,000

307 QI2t0| ™ 90,000 90,000 0
= 45,000
& 45,000

02 AI2tAAMAIE E =X 90,000 90,000 0
OHEEIINMM Olsclacd 90,000
= 45,000
== 45,000

oHgel g &3 & J=X2(=210) 76,500 78,920 A2,420
= 61,100
o 15,400

201 et d| 6,000 6,000 0
= 4,200
o= 1,800

01 AP 2t 2| H| 6,000 6,000 0
OENZXES 24 6,000
= 4,200
& 1,800

301 et A= 45,300 45,920 A B620
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40 5 4

SN - FE - B(EA) - HRAL Ol &+ o4 SSa HlmE2
HALAHI EAZ 45,300 1,050 44,250
ONHEXNZAE 2 45,300

= 31,700
< 13,600

gI2tol 4,200 6,000 A 1,800
= 4,200

QIFAAMASEE 4,200 6,000 A 1,800
O&FEIAHI=A 4,200
= 4,200

AHatE S HI 21,000 21,000 0
= 21,000

MY ESHE 21,000 21,000 0
@IEXNE o7 21,000
= 21,000

ORI XSAABSH X 1,474,900 1,526,000 ~51,100
= 1,273,300
< 201,600

2Bt | 3,300 8,000 AN4,700
= 3,300

AtS 2t el i 3,300 8,000 A4,700
oXs2eld ' 28 3,300
= 3,300

AuS A2 10,000 8,000 2,000
= 10,000

HALAHI EAZ 10,000 8,000 2,000
oXsEZeldg sy ¥ g8 10,000
= 10,000

NXIEHHS0IH 1,461,600 1,508,000 A 46,400
= 1,260,000
< 201,600

X SHHEAE 1,461,600 1,508,000 A 46,400
oxsgzelodg 1,461,600
2 1,260,000
< 201,600

3 =(=21) 19,000 19,000 0
= 19,000

L2 HH| 14,000 14,000 0
= 14,000

01 At 22l 14,000 14,000 0
MRS 2 AEF 14,000
= 14,000

202 Odl 3,000 3,000 0
= 3,000

01 SLHOYI 3,000 3,000 0
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